Slope-Intercept and Point-Slope FORM Letter
Dear ____________,

(Name of student)
Please don’t forget what a form letter looks like!  Everything is exactly the same in the letter, except for where the form leaves a blank.  That blank gives you specific information about a type of thing.  For instance, if you love _________________,










      (favorite ice cream flavor)

you’ll find that information quickly in this letter by looking at the above blank.  If you see enough of these letters, you won’t even need to read them anymore to know the name of the student and their favorite ice-cream flavor – you’ll just go straight to the blanks and ignore everything else!  It works the same way with slope-intercept form and point-slope form – look for the blanks, and ignore everything else!



Sincerely,





____________________





(name of Algebra teacher)

Now, try it with the form equations:

Slope-intercept form (y=mx + b):

y     =      m     x    +    b
                              blah blah blah blah blah  __________   blah blah blah blah blah blah  _____________






 (numerical value of slope) 



              (y-coordinate of y-intercept)

For example:

y     =      1/2     x    +    (4)
                              blah blah blah blah blah  ____1/2____   blah blah blah blah blah blah  ____4_______






 (numerical value of slope) 



              (y-coordinate of y-intercept)


This means that this equation’s graph has a slope of ½ and the y-intercept is at (0, -4).
And:

y      =     - x    -       2
                              blah blah blah blah blah  ____-1____   blah blah (WATCH OUT!) blah  ____-2_______






 (numerical value of slope) 



              (y-coordinate of y-intercept)


This means that this equation’s graph has a slope of ½ and the y-intercept is at (0, -4).

Point-slope form (  y – y1 = m (x – x1) )

y   –    y1    =     m    (x     –     x1)


blah blah blah ___________ blah blah   ___________ blah blah blah blah blah _____________



                 (y-coordinate of point on line)                               (slope of line)                                        

                (x-coordinate of point on line)

For example:

y   –    3    =     1/2    (x     –     2)


blah blah blah _____3_____ blah blah   ___1/2______ blah blah blah blah blah ____2________



                 (y-coordinate of point on line)                               (slope of line)                                        

                (x-coordinate of point on line)
That is, the graph of this equation runs through the point (2, 3) and has a slope of ½.

Another example:

y   +    4    =     -5/4    (x     –     1)

blah WATCH OUT! blah _____-4____ blah blah   __-5/4______ blah blah blah blah blah ____1________



                 (y-coordinate of point on line)                               (slope of line)                                        

                (x-coordinate of point on line)
That is, the graph of this equation runs through the point (1, -4) and has a slope of -5/4.
